


27. fawa 2024 % foru fbm 2w € a7
| wEtt, 2024 Ay M MER 2

(A) ¥ra (B)- &9
(C) mmsfter (D) &=

Which country's chairmanship has |
from January 1%, 2024 for BRICS 2

(B) Hife (A) India (B) Russia
(D) foreaagm (C) Brazil (D) Iran

- the Prime Minister had

to overcome the challenge of 28. =¥ 2016 # EE % 2= RBI (3
hmﬁwiﬂmﬁmﬁp y feord o) & merf ¥ 4

e i Onkshadwecp (A LTI (B) o,

| was | (C) ot wfdvia g (D) o £ gen

Who was ﬂn RBI (Remve Bau




mgq(NlA)'ﬂTfF‘q o
17. IV F “Fw Heq” H IEA [A)W '
- 9
3 T AT TR ®) mg,—gﬁz—ﬁ-mqﬁtﬁ
(A)mmmqﬂxﬁmmﬁﬂ' mqﬁ?ﬁ
(B) mﬁﬁ.mﬁh'ﬁnﬁ%mﬁd' (€) % ‘
(C) Ty A FRIYA (D}Wﬁﬁr‘rﬂ?m
(D) et sl - agumbh Give full form of NIA.
In Uttar Pradesh, the festival of ~KU! f ional Incubation Agency
Mela” is celebrated at the confluence © (A) Nationa 20 ‘
which rivers ? ‘ " (B) Naval Investlgallton Agency
(A) Ganga, Yamuna and mythical Samsw.m (C) New [nvestigation Agency
B) Kaveri, Sarayu and mythical : tsation Agenc
( _ v (D) National Investigation Agency
Saraswati
(C) Narmada and Brahmaputra s T 8 & T A
(D) Tapi and Narmada 22. IR ;
18. I wew fawfta fam ) Prferfea e & fou M@ g0 9% o m
% & fous feem % forg fomfa wEma siter &1 AW Frefefga 3 8 #7112
?T:;;ﬁ (B) ﬁﬂ:wg'e; (A) ST 37
(€) forem O)-3@m (B)* AT 7T
The Uttar Pradesh Financial Corporation (C) et famr
(UPFC) plays a key role in providing
financial assistance for the development (D) mﬁw
of which of the following ? i N i = name of
(A) Agricalize - (B) Helliks Which of .the following is the name o
(C) Education (D) Industries the operation launched by the I[ndia
19. SH WS Srfet evacuate Indian national from Israe
P AL E g{wm L Hamas conflict zone ?
(A) TEREET  (B) wms (A) Operation Ajay
(C) T3 D) (B) Operation Ganga
mwal National Park of Uttar (C) Operation Vijay
fohw? M Which of the (D) Operation Hot Pursuit
(C) Meeru e (B) Pravagra 123, wren @t v 2023 &
2. 2006 % HaE ) Shahjahanpur e g
T TR | S e o
mmiim“ W am m(ETCA)ﬁtrcﬁﬁaﬁﬂﬁs_w?‘?
(A) wrAEun o 1y (A) wrerda :
(B) Hramard) yfoge (B)- =M1
in 2006, the (1) B e (D) s
oy W 5‘;"‘“3‘ i October 2023, Ind "
&hidlofdufq _ " was Tenameq 2’; m_I:h nﬂishbouring country
(B Hmtf:rﬁ" il Em::“h'd negotiations #
(©) Hmmmﬁ'ﬂneu , MIE and Technology Coore™
(D) Humanitarian c(f,"""‘“‘?m (A) t(ETCA) ?
ﬁ?*‘*momm_‘ "“""-“T. (Q) ?:.ldwcs (B) Myanm?
———r— - (D) Sri Lanks

- <




9.

Preforfrn i & W e srdm oo o vt |19,

e w7 g s 0

(A) Bt (qfers merfders)

(B) Hremat (gfevm 30-fadve)

(C) wirdh (o gfera amg)

m;mmm_

Which of the following is the highest—

ranking Police Officer in the State of

vy . General of Police) -

(A) DGP (Director of Police
PSI (Police Sub Inspector)

g ACP (Assistant Commissioner of

Police)
(D) DCP  (Deputy Commissioner of
Police)

e L E T ——
L SNR
SEmamm

14,

L

s v % fore afewat, o o
w1 I Prefefiaa & & feg am @ w0

Ei18 3
(A) aftwea (B) forfrpes
(C) Fdrmemn (D). #ifFaa

Growing vegetables, flowers and fruits
for commercial use is known as which of
the following 7

(A) Sericulture (B) Pisciculture
(C) Viticulture (D) Horticulture

fefifes 4 @ v % fm 2o =
TS AR T F A E of o
(A) 5§ (B)-®if

(D) ®iewman
Which of the following port of India is
sﬂi;mew as ‘Queen of the Arabian
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Fraforfea & @ aeam- aqwa w1 ay w47, Peaferf i & g o § smem s

T R 7
(A)-TT9F - ST (B) 3787 - T
@:)Iu-w (D) firfey - v

Prafefen & & ¥z’ weg w1 qw wg w4

(A) e 1 @@ et wot o ot |
(B)- viw faei d @a 2 |

(C) T e qaeft 2 |

(D) 1 8 qeers firf) |

. ‘e’ w2 0
(A)¥

(B) o
(O] (D) ==

du’ 3ree 3 7 vrez it e
(A) &+ m‘?’ (B) &1 +7m

(©w+m







68 ‘Wgher wee d @\ W I R 0
(A) W (B): ¥
(€)@ (D) &

g & I & R wn w2

(A) sreh sl wdfi zr da # |

(B) #ﬂ;’! st faw iR hi woE
R

D) N woa e It F vl W
TETE SR |

s Frefafea 33 e @ 22
(A) Wi (B) Hfe=a
(C) Fwer (D) WmE

fEiEmem AR AL
(A) Fmaet B) #vs
<) (D) FrEmEet

Sch v S s Ha R E 2

(D) m

T

79.

@ 77 #1 4 A fapifora B o @ A
A

e Hifo | P
Find the remainder when 77 is divided _ﬂﬂ"-’:c’;
by 4, ﬂ'_f* -

(A) ] (B)2 .

(C)3 D)0 . Y,
315 1 -2 45 g ¥ %b 5 x
gEwt: 15+21 3349-2+5)+2 * r
Simplify:15+2|x(J§_2+5)+2 %:’g,@/b
(A)15 (B)63 (C)78 (D)91 21 2

3.

i B : 31.004 — 4.98 + 0.7034 —, -

7.6 +03-2 s ;'1&
Evaluate : 31.004 — 498 + 0.7034 — <758 &

7.6+03-2 g
(A) 19.4274 (B)-17.4274 :’;. ¢ N
(C) 19.4173 (D) 17.4742 -':1}3

% wEa F HCF 11 # 3 37%1 LCM

609 ® | aft wF wEm 77 R, @ gEd wen
AL - gAex = K




83. U fagara ¥ 101 6 ¥ @i ot 3R T6
# 4 % femrw A ¥« R | g AM F

witver s i |

A vendor bought bananas at 6 for ¥ 10
and sold them at 4 for T 6. Find his gain
or loss percent.

(A)+10% &M/ gain (B) 10% Eif/loss
(C) 8% W™ /gain (D) 8% ¥/ loss

84. = o aiffs e, 129% wmamon s W3

F %17 1,260 %1 % san 3 ?
g annual instalment will discharge a
227 debt of € 1,260 due in 3 years at 12%

U9 simple interest ?
(A) 2325 (B)-X 375
(C) T425 (D) 2475

85, W I e =eEE A T 76,000 ¥ BT
o | 7o wiH W, e 757,000 %
M 35S 59 98 T | a6 & o i, o

T EE 2 1§ v # R

T | o e R e s @ e 2

2

3

89.

......,sﬂﬂamﬁwﬁ?

are there between

arf a1 afATd T HIT

At &l th%mt;z

:nh:%m Fbggowmmﬁa thf:z
whose area is equal to the difference

of the areas of these two squares.

(A) 323f/em  (B)-36 #i/cm

(€) 44%fiem (D) 48 Ffl/em

e et 9 fedy/erer i wifer & werd 7u TS

T 15 firre § am e @ | g i o

e i) 2 :

A m . f!.;




92. e, sl otk wd # Mt Sl 10 gro
2 0 ITE! ) e wEn H A, 329 Wees
e a e 9w, arlte ok wd F fram
o T g ¥9  Ages Wie Iwl
o e feedft oft 0
Qut of the total number of products sold
by company ‘T in March, April and
May together, 32% were made of mild
steel. What was the total number of mild
steel products sold by company ‘T’ in
March, April and May together ?

(A) 144 (B) 150
(C)-155 (D) 160

B sE s P, S IR T IR ™

il 1 shem wem w1 R 7 ()

ﬂhiﬁmmofm.
. sold by company ‘P’, ‘S’ and ‘T’ in |

;-E:-::-,; | h?m’
A 112 @) 116
M) 120

a8 &9 sita o ) P % e gaw w5
AR ar=d) i A gugrar d
o8, uueflz, o

Choose the Venn diagram which best
explains the relationship among given :

Boys, Athletes, Students

w09  ®®@

0@ @

. @ 1 YA HE 3R I A v

S
e e

- - 8 = 2 §
=16
(A L
»
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MPHP

102.

103.

L. sl 1 @ W EE & g R e |
Peary e T Y ®0 A 1@ T TR
T ?

Which one set of letters when
sequentially placed at the gaps In the
given letter series shall complete it !
M.-NO? MNN Pu NOpPMy OPf

(A) MPMOONP  (B) MPONONM
(C)*MPOMONP (D) MPMONOP

fo T et & & 9 Wl feew o
S 1 HAT |
Choose the correct alternative from given
ones that will complete the series.
§;13,5599%24.5,30.(7)
(A)35.5 (B)37.5 (C)38 (D)4l
e feg o we A, u v~ femn mn B,
3% 9. 95 $ w9 ¥ R yw-gm R
o E | e g g g @ o wed
T FE SO R |
=udTi - g
(A) sfitmfa.tsw  (B) forers : fnan
(Cy2El: 23 (D) o : FHF
In the ion below, a pair of words is
given, followed by four pairs of words as
ﬂm‘m\'z mﬂharemrequired to choose
enone sclationsiry e words bear the
Apostate : Religion
(A) Potentate : Kingdom
(B) Teacher : Education
(C)*Traitor ;
(D) Jailor : Law

w86 45 segcd e Mm h'
104. =VIﬁPO::bOURN;(?)

(A) CQWTP
() DPWSP g)rg;wws%
108. m-mﬁhﬁmi 2
nany triangles are there in the

106.

107.

w0 & g 1 31 10 FoHT @@ 2,
2 3ine 6 et wreren 2, ot ard
g & H 1 5 fapeft reran &, TRt QI qo

U‘:»ﬁ T-}ﬂ}}’&{
fope gt Hgal

%ﬁtaﬁnﬁaﬁmé.mm@m% L
Iﬁﬁrﬁm%wga:ﬁﬁmmnfaﬁm

wE?
b (B)- 6 feredt

(A) 16 Forrft
() 25 et (D) 12 feedt

A person moves from home position
towards east by 10 km, then turns right
and moves by 6 km, again turns r"%:“ and
moves by 15 km, again turns right and
moves by 6 km, then turns left and
moves by | km. How far the person is
from home position ?

(A) 16 km (B) 6km

(C) 25km (D) 12km

f= o e 3w & o Hu 3w A
I 3R 11 wifeha gt gromd &t 78 & | !
Y7 AR Feafaflss gronst @ f=w
w8 3R ol S @ % # d awon
mﬁaﬁﬁ'ﬁﬁt:

O T T g 3 A 7 =i |
R ;

L m!’gmm'ﬂ%ﬁm?ﬂmﬁﬁ |

1. 3% 7@ ¥ Fri Ssiese ored £ o
TR % forg wifres 2 |

(A) e gron | srafifea® |

(B)- et aron 11 sfafifea & |

(C) ma (a1 11 FafifEa ? |

(D) A7 1 37 11 ik ? |

In the question below, a statement

followed

Tand i i o ssumptions numbered

1 is given, You have to conside
statement and th o
assumptions and decide \:rhicit;‘)l!:?t}“gg
mum“:mn is implicit in the statement -

. u::'l:‘OM not sleep under
i\uumpﬂnuz '
I; ? &.11th leaves may spoil our

» -Tee gives out carbon dioxid
A) gig;lt which is injurious to Ilmg:lltlf 1
B) On'lr assumption 1 is implicit.
C) Ei Y assumption I1 is implicit.

ther L or I1 is implicit.

) Neither I nor I1 is implicit.




108, 1 o e we & v o 3t gud a |
I, 10 3R 1V Fwifda an ok wiifive § |
WS T8 79 w0 R ey a1/a a4k
Toqa’ 7% R/% o ¥ w/a wani
% 8/ 3R Fegen v & 9 fdu mo
faweal 8 R arem I T ;

w9 W el e el s R
T 3 A T fRea s wfie 9

L T | SsEse o @ e 6
Terghsran & s o | _
n. &) 3% = Wem g i %

W & | = gt fgw 6 o §
YR 8 | x >
V. ¥ | 3% 3= Tl w1 37 v 2 |
(&) 599 IV Foq 2 |
(B) 59 I Toigr 2 |
(C)-F== 11 3k 11 womm # |
D) 55 1 3R IV womm # |
Question given below consists of a
Statement, followed by four arguments
numbered I, I1, 111 and IV. You have to
which of the argument(s) is/are
W:Eg argument(s) z?amf:1 which is/are
Weak’  argument(s) an accordingly
choose your answer from the alternatives
gven below the question
: Should all the school
leachers be debarred from giving
Private tuitions 7
ments :
L No. The needy students will be
deprived of the expertise of these
leachers

U Yes. This is an injustics 1o the
educated people who
can cam their living by giving

W. Yes. Only then the quality of
teaching schools will improve.
v, v...un-,:"marmmu

W. |, 109 % 113 ; Freferfis arenht =1 s
I Wl i A= R o gl & 3ed

Frart %1 2t wile & fou xyz &% 20 7 10
1 w0y wgE e ) ol Fferfas # .

T - :

(a) 9y = 8w iy vee it gfty ﬁT—fT =1 |
(b) ¥ H @i ¥ § e <t xarfodes 29 4w we afa |
(c) | @R, 2005 %t 50 % & il 35 w0l den=fam
(d) =1 5% 3 wHrn Ing = Tl &1 =t |
(e) YERIT WU 8 U SETET T Tege % § 5a 2
=Ry |
m%m«%tlmﬁﬁaﬁmmﬂwﬂagiaﬁgmi,m
I.-Wm]ﬁ,éﬁﬂﬁ#%gﬁ;ﬁmq
st Boe I § wew R, @ umen g% &
ST ] F TR |

1. S (d) %, ¥ %% 8§ TR s A9 24 o
wfer o &, A e % HaEE S |
19 o s s 3 e fram i forega et
CRIER rmmmfimﬁnjm
& FE

mmm.mmmﬁanﬁm
%mwﬁﬁmﬁ:%mmﬁmﬁl
fewiat, 2005 & Rafa & s fm o 2 |

Q. Nos. lmmlmzswymefolhwhghfnmadm
carefully i :

T
a) have at ustﬂvcmofeufﬁ"uughad.

) bublslnpmdtmeuworuhutﬂhkin
¢) ﬁshamthmsoymnldnm 1" December,

(d) _m&wmywmwmmm




109 TR 3 YT YU A TR ugﬂm‘ﬂmfﬂ
ek |3:¢mmm$ﬁﬁ'ﬂ‘lﬁ3
mmtsmﬂmﬁ%éﬂﬁﬂil
< W 4 [EE, 1955 W g |3
¥ 5 =t w9 () TR
(A) it 7t wer R e |
(R - e e 5 T 1 W e |
) yzm T w3 faoa R & forg

R

(D) 3w v fan amem |

Raman has obtained a recommendation

jeier from the Panchayat Pradhan. He

hae seven acres of cultivable land and

can produce collateral of ¥ 8 lakhs. He

wes born on 4% July, 1955, He doesn't

have sny outstanding loan from the bank.

(A) Advance is not to be granted.

(B} Case is 1o be referred to the General
D oot

() ided 18 not :
tuke 3 decision. g i

(D) Advence is 1o be granted.

110, T2aam % 9 8 TEE, 1956 I RAT
R T mTwm bl ol
ﬁﬁlﬁwﬁr

1. e

. 1956 @ EHI
Hftwara qf ® |
Zr A R T O
| ¢ 10 FT@ 8 HUF
ﬁmﬁ!iﬁtﬁmﬁi |3 T EF F
ﬁimﬂﬁﬁ(m)‘fﬂﬂl
(A) FHfim 7l wgw v S |
(B) iy s o ST |
(©) e e 26 WRTIEN I ST AT
(D) AT e % ST Y WA AT |
Vinod Rai was born on 3™ February.
1956. He has six acres of cultivable land.
He has submitted a recommendation
letter issued by the Panchayat Pradhan
He can pledge collateral more than T |0
lakhs. He doesn't have any unpaid loan
(A) Advance not to be granted.
(B) Advance to be granted.
(C) Case to be referred to Gener?
Manager of the bank.
) '&? Wlhwﬂ-m Chairman of




13, IORF W & a wE vy Hha iy
R | IER e WO A e 9T
fFn ® | W w a e
(woon) 7 R | = I ot i WD) vt
v & | 9 T 6 T @} wfs Fmivs
TR |

(A 31ftrm 7w e e |
(B) i wem fawn wmom |
(C) = & 3 mamwa i S s |

114,

it et =fEy |
You are stationed as a police officer; you
notincamymroldchild;bmlta
busy intersection. As per India’s Juvenile
Justice Laws, yot should :
(A) arrest and detain him at the police




116, 3ma vE qfem faard & &9 it & #;

e =9 2} gaie o §i 27 WE®

Hﬁi.ﬁuﬂafﬁuyﬁfmmaﬂ

SyavaE] R R | ST

(A)+ R T o] e R TRl
0 B e o e g e |

(B) firww vty 3 wegEs wegd ¥
g e 3 e 2 e |
(C) §FE S ity @ arfie FA & o
wEE & & | WA e STEe |
D)@ & £ Frans el
Hol =Y |
Vou are stationed as a police officer; riots
erupt in a religiously sensitive locality
requiring reinforcement. You should !
(A) order lathi charge if groups pelt
stones violating restrictions.
(B) fire tear gas shells to forcibly disrupt
violent mobs.
(C) work with community elders to
appeal for peace and calm.
(D) conduct preventive arrests of past
wroublemakers.

117, ¥ u e wwd & = 1 e
o @ 7 g R 9 s s
AT A W e, ST ;

(A) wafa aré 1§ e Wl s

|
(B) g & fow forea &
aibradonon il 305
a1

(C) -+ w= d wam i
s PP S

(D) 1(ﬁw aften wiRws w w‘lﬁhl
You are stationed 28 & poli : ;
prevent further cases of officer; 1o
thefis from hospitals, you wl_ . )
(A) /mpose i
: LinF::rmly wh.ﬁg on visitors o
(B) intercept phung calls o
Il:'iamckcra(h:;_rvm of detained
v I (' v 31 o .
o ::;:r:ﬁ:ntw und exits wround labour
loy unm e
() 8 s proghan deso

{18, M U

"~ s

EJ-2

st T g% ot T

r.rﬂtfaas%rmﬁq—rimfaaﬁ?mmmgn

yﬁﬂmﬂ;ﬁwmﬂﬂ%lm;

{A,gﬂwﬁﬁmﬁiﬁ:mwfxﬁlm
maﬁmmmaﬁm

(B)-sfFa & sgen feE e w5
=fee |

(©) ¥ F FHEE wgEA T e o
g 0 et & g1 & =i |

Y@ AT} R FE =0 |

You are an Investigating Officer; a riot
accused political leader requests charges

he dlw m a pmmoti0n_ You
should :

(A) pretend to give in to the threats after
secretly taking the bribe




122w g el % %, S
Sequers weE & s rerEfer
e S ST wma ge R w1 A
FAITSAOR | B
(A) TrEEs mad # Ja & fore Pt
IR Y W@ =R |
wiferEr P 38 T 61 R
0 st =) TR e e |
(C) TR FAUE P A & foe
q@m«ammm|

(D) T weRid 0 % fre & i
e W12 TN ST T |

As a police officer, you face protests

alleging profiling bias against a minority

community. You should : <

(A) enhance surveillance measures 10
prevent subversive threats.

(B) acknowledge concerns by reviewing
statistical arrest data trends.

(C) organize community discussions to
@wmﬂ:mlmmuﬁwyps.

(D) implement diversity quotas in field
force 1o showcase inclusiveness.

123, v Iem Fiuei & w9 #, s wie i

- Tt
m:m,m'ﬁm"m

(A) 7md 1 T :
i

(B)

124. % qferE sifrarrt % €9 1, ot g 38
1 g 1 T fi R AR 8
(A) "% T 3 St & F 2 |
(B) FTfRRE Pl THEA Hl IHE |
(C) T et i T TG HA g1
(D) &1t Har i 1 I |
As a police officer, the primary reason
| chose this profession is :
(A) The power and authority it provides.
(B) The excitement of catching criminals.
(C) The job security it offers.
(D) The opportunity to serve the nation.

125. & oo st % w9 H, FTH! ST
7@ W & %1 yde 9% TE AEEE
2 | v a7 # 3u-frfiees & forw
freffea 3 /@ #9 @ @é & v e

L &

(A) wfmm  (B)3 R

(C) o et (D) =r fEit

As a police officer, you are required to

wear a rank insignia on your uniform.

Which of the following is the correct

rank insignia for a Sub-Inspector in the

Indian Police Service ?

(A) One star (B) Two stars

(C) Threestars (D) Four stars

126. UH tw :: #, s iy
L1 W g | =

gemTe T & | R % “ﬁm_

st Far s a S @ o

(A) TEATRI® U Sl ) e e |

(B) afe sravaw fuftrean s
W& | ;e

(€) & 3 ofifn ) waw 4 sfa
(D) T & forg s wen .
: officer, you use tear gas on a
 adequate warnings. As
after m?which of

at scene,




. - - = &T3 OOz I E D
119. 39 UF WETIHI W&t & U fera @va & (120, a0 fRoptz we € 9 50 999 5

afem syt e & | 3o are b i i
AT ®Y WA AR syt & e %
fmﬂﬁ‘e‘?&mﬁm!ﬁ§|mmﬁaﬁ,m
mﬁmmﬁ,mtﬁmgﬁmﬁg
¥ el = Rar s @ st amoe
AT VETR HT YEYT HE 3 et )
WA H EA R | I e # R gqw
st s 3 v ) i & |
(A) T w1 Y e aifte sk
s ot yie § see 53 )
T St w iR |

You are a senior inspector in-charge of a
police station in 2 metropolitan city. You
have been working hard to maintain Jaw
and order and prevent crimes in your
&€a.  However, due o some
administrapiye reasons, you = are
ransferred 1o a traffic police unit where
You have 10 manage the traffic flow and
enforce the rules, You feel that this is a

Waste of your skills and experience, You
ﬂlOI.lld :
(A) protest against the transfer and
demand 1o pe reinstated in your

a Previous role,
B) accept the transfer as temporary
sethack and hope o get a better

Posling soon,
(€) Us€ your influence and contaets to get

. a!hvoumblemfwwmﬂlﬂ"'ﬂl

) adapt {o the new role and leamn the
skills and challenges of taffic
N*-wmmmm"

121.

R sepzes % ®q 4 semre fean
T e afemrea gt e fireran & | s
(Ap i?ﬂ?vtdf%hmhaiéﬁm?ﬂ LSl
S T g 98 T i et = |
(B) ¥8 A1 %78 % 491 % 37zt v +faw
aifes ferepre A ré s wfa st |
(C) Ti-wfeeh Zwamil %1 394 ek Fafem
H vea g1 foreme Ry # acfi o
T |
(D)mm&w?ﬁﬁwmmm 3
el % it 1 sremt w5 2 =nfaw |
When examining a bombed explosion site,
you find a damaged mobile phone potentially
used as timed detonator. You should -
(A) wrap it in paper ensuring no
fingerprints disturbed.
(B) place it inside thick
ensuring no further blast damage.
(C) photograph original  explosion
position before handling, using anti—
static gloves,
(D) first dismantle parts like SIM card
and battery for separate evidence.

cloth bag




t%«ﬁﬁmm@z%m T g
e wE  wEE @ |

g s w e Rwmifsee M
FWATERA R |

#2: 1 o FEaa & % e 78R WEmw |

08 M S 9BR

3 SREn T S & B g ssara
At @B % 3k 33 In Fm g £
Edmnamse)

142, A2 sy o v Hua it 39 W | 31
awiifene &1 Fread g o & | et e o

L. glmmwmam

(A) et ford 1 s e &
(B e Freaed 1 srgeren e # |
(C) 13 11 3l e Fea # |

(D) 77 1 3 E 1 e e 2 |
In the question  statement
fllowed by two conclusions mumbered
I and 11 is given.
then  consider




134, U Wi U S ¥ 2 w3 ) v fear
b | vu ud R W 6 W H EW
ﬂmﬂ!ﬂﬁéﬁqﬁﬁmﬁﬁﬂﬁ@fﬂ?
An accurate clockslh;n:'szdc!mk in $
afternoon. Through , many degrees
the hour hand rotate when the clock shows
& o'clock i the evening on the same day ?
(A} 120° (B) 125° (C) 130° (Dy135°

135, Frferfign site § smam goul ) quim &,

Farftas = it B, 97 IEQ ) FtEr
& i wwrll = :
In the following Rectan

139, qmmmtfaaismmnh;mﬂ,

s 4 « 3 & Faalia e fid ™ 8 m
u & | 5 S 4 % 3 & favla o
e o o g & | AT 3 3 % famia
o g o 8 o g | 3 T | A
s AT B12 Tl A e fo e | e
W12 W o5 e 4 B 11 A 7

There is a cuboid whose dimensions are
4 %3 %3 em. The opposite faces of
w 4 % 3 are coloured yellow
The opposite faces of other dimensions
4“ 3 ‘F coloured red. The opposite
faces of dimensions 3 x 3 are colourc:
: i id is cut into small

m. How many small
faces coloured ?




127. ST (7) % 7 9 3o fewed et

grerta-fawm I . e faw ("
(A) wsft (B)
“"'}lﬁ (D) &g

Find suitable alternative in place of

guestion mark (7)
Botany : Plants : : Entomology : (7)
(B) Plants

(D) Snakes

{A) Birds
(C) Insects

128. Fefein v 8 50 e R § | o
W ®i 8igst $8 g favand € |

T @ e g | -

(A) 72 (B) &t
(C) ' (D)«aTeT™
In the following question, some words

are given. They have some common
festures except the odd one. You are

required to find odd one out,
(A) River (B) Canal
(C) Stream (D) Pond

195, B2 m i 4 2w v e i
T % o o =

Choose the correct altenative from given

15,8, 35, 24, 63, 48, (7)
(A) 88 (B) 92
C) 99 (D) 102

P B e w4, ZEBRA® ®)

~ WBYAS" & wv i T o #
' "Fﬁ"lnacu"gtaﬂmm?
08 censin code lunguage, “ZEBRA® is
Dded 4 “WBYA)”  How will
mﬂrbcwﬁnminlhnumnmlll?

3. TN & A aivaw B o e 8 e g

.?ﬂmtﬁﬁmﬁ#um,rﬁmwﬁ%r&

ones that wij| complete the series 133,

——
R, et w8 3w ard 3t qzan @ 3fh 2 Fsshh
wert B | e @ st 2 s g 8
3R 5 foeft e & | o ae gt faig
dfafamad o,

{A) aﬁi"ﬂ"{&f (B)* Far-afrey
(C) ufoem (D) I

Kabir moves 8 km from East to West
direction, then he turns to his right and
moves 2 km. Again he tumns to his right
and moves § km. In which direction is he
from his starting point ?

(A) South-East (B) North-West A
(C) West (D) North -4

A 1 9ot wfen & | o, P Fram

r 1 51 wife & 1 viten, i & fem wew
Hafa & 2 .
(Ayrar (Byag |
(C) drdt (D) ¥

Sheela is Ravi's sister-in-law. Ram is
Ravi's brother. Ram's wife is Sheela.
Deepa is Ravi's sister. Deepa's mother s
Shanti. How is Sheela related to Shanti ?
(A) Mother-in-law

(B) Daughter-in-law
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143, fae 3 o R g v o 2 B
2 wreh) Fveven e 8 |
Choose the alternative which closely
resembles the mirror image of the given
TRIMI®

JUDGEMENT

(A} TNEMEGDUJ
(B TMAMIDAUL
(C) TWAIMIGAUL
(D) LIaDAMIAT

144. = f st 0 # Ram Mﬁ
(), (2), (3) 3 (4) 7 & W A FFH
|

Fmdunuti:hnfﬂtﬁm(l (2}.(

147 mﬁaﬂ%ﬂﬂmf&mmm-
e a1 AT A A
{, s 2. W(x
3, g feen 4 e
5. &
Which of the following option \'-uuld L<
meaningful order of the followng wo
1. Doctor 2. Fever

3. Prescribe 4, Diagnose
5. Medicine

(A) 2,1,3,4,5 (B) 2,3.5,4,1
(€)+2,4,3,51 (D) 2,1,4,3,5

148, IR g M FwAfE Y

Choose the figure which is different om
the rest.

Sivieen

S i wid
4 O

 ®E
(D)%

- %ﬂa&m qu.d 10
| g 8 g

ges and cach page has
ceagh. How mas
book altogether '




